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V1 Semester B.Com. Examination, May/June 2019
COMMERCE
Paper 6.6 : Elective paper-IV : Cost Management
(CBCS) (Fresh+Repeaters) (2016-17 & onwards)
Time : 3 Hours Max. Marks : 70

Instruction : Answers should be written completely either in English or in Kannada.
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Answer any five sub-questions from the following. Each sub-question carries
2 marks.

1. (a] ©SoRzmed DoLoTRE wIenivs:, S¢A.

State the features of budgetary control.

(b) =P, et dowTed 9
What is Value analysis ?

(c) OSPPIECW 4 TORFRO INonE T gﬁ@a‘n& A0,
Mention any four functional budgets.

(d) Seo=8ds wped uau‘a"’ﬁmw FRITRVINGDH «%@N
State the benefits of ABC Costing.

(e) ém W8 FOWTER 2
What is margin of safety ?

() =osdd, K3 JIom Howded 9
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What is material cost variance ?
(g) &y Segped wowdesd 9

What is Standard Costing ?
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Answer any three of the following. Each question carmes 6 marks.
2. SoHTCH JCPOTET =EWIROBYE, Tt TR,

List out the limitations of budgetary control.

State the advantages of Standard Costling.

4, O ;:Io%oda WWONT =2 08 Qw -
RIOOVIT W8 W cueET % 20
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(b) HWRS VoTL CRAFNTY =0 TRNYY

3x6=18

(c) PBez JeH3ye Sotd chwIETTED D) derdd Z=cus =0 36 20 @z
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The following data relates to a firm :
Selling Price Per unit ¥ 20
Variable Cost Per unit T 12

Fixed expenses 3 4,000
Calculate :

(a) P/V ratio

(b) BEP (in units) and in value

(c) New BEP (in units) and in value if Sclling Price is reduced by

—
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BT, SRS IANIEES SN uDadeeNs 2.0 FOEI UM TR X FE Y owy,
SUTDRRIBT. 0T gonen Wygn BHFOmOST

X Zmenpe Y Soees

VIO DRV 5,000 60,000
2,63 00T, NOWNEL 20,000 1,20,000
2ot N\.éﬁ:'o"ﬁe&" "NJGQ% 20 44
b 0D wWorInY e, 160 384
TOXNFT LR B BYB0E0dE

Zommore Howos Wedwuld Wansd ¥ 5,50,000

:%ﬁ:’ﬁ FowchH3 B T 8,20,000

DOH BTNy Bowohy JPNw T 6,18,000

TS chentrs deen DWFNYE, ABC TR WY, GUBOILEN F0@ERCRD.

A Company manufactures two products X and 'Y using common facilities.
The following cost data for a month are presented to you :

Product X Product Y

Units Produced 5,000 60,000
Total Machine hours 20,000 1,20,000
Total number of Set-ups 20 44
Total number of Purchase Order 160 384
The annual Overheads are as under :

Volume related activity expenses ¥ 5,50,000

Set-up related expenses ¥ 8,20,000

Expenses relating to orders ¥ 6,18,000

Caleulate the Overheads per unit absorbed using Activity Based Costing

approach.
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éuﬁ Srerdided doegs A B WEEan BENdE = wom oW 15 kgs
Tonwe WnY O 23S T20 B F.B. A B "Eﬁ'a'i:_;to’ Swischod 11,000 kes JANYER,
T 2,64,000 To3 w¥aE menwe 1,000 Twogs 2 o —~-‘*ou3 maw#%,
TRTE FIANI, FORLHOWO.

The Standard Material required to manufacture one unit of product ‘A’ is
15 kgs and the Standard Price of material per kg of material is ¥ 20. . The
cost accounts records however, revealed that 11,000 kgs of materials costing
¥ 2,64,000 were used [or manufacturing 1,000 units of Product A’
Calculate material variances.
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4 g
2017 1,20,000 8.000
2018 1,40,000 13.000
wor B0

(a) oo ooew IOTTeD

(b) Fabye wowd

() ¥ 1,80,000 m3pUssd Lws oy
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The Sales and Profits for two years as below :

Year Sales Profit
% <

2017 1,20,000 8,000

2018 1,40,000 - 13,000

Calculate :

(a) P/V Ratio

(b) Break Even Point

(c) Profit when Sales are ¥ 1,80,000

(d) Sales required to earn a profit of I 12,000

(¢) Margin of Safety in 2018

(f) Variable Cost of the two years

8. 1-4-18 Jotdh 3OTAICH TWUORT 5*5_1:& % 75,000, Q&e”

R 30NY IR FONE

é:ﬂ@{ :«So&‘*-’ Ten TEAT maaéw@ QETERNT.

- RHT

2018 ¥ IR

- 3 =
gty ROk | DOCRNw: zRt FoeLoTIIN®
4 g 4 =g

FWBO 14,000 9,600 3,000 1,700
DR 15,000 9,000 3,000 1,200
DL 16,000 9,200/ 3,200 2,000
e 17,000 10,000| 3,600 2,200
BT 18,000 10,400 4,000 2,300
938 ReBSNY :
(a) el FrRId JTE gony OB BRH BTHTO.
(b) weovwT 3. 25 Srich Hwovks W mEEON 1 dond oUW TR BB,
() RO =3 shrevdygny RS 03T 1 Son<h.
(d) Swech 301t T 25,000 wed 2018 T BRI0DY WRERTANG.

P.T.O.
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A manufacturing Company is expecting to have ¥ 75,000 Cash in hand on

1-4-18 and it requesied vou to prepare a Cash budget for three months
April to June 2018, The lollowing information is supplied to you :

Months Sales I:Purchases Wages | Overheads

T |: L4 < X

February 14.000| 9,600 3,000 1,700
March IS.(JUU% 9,000 3,000 1,900
April 16,000 8,200 3,200 2,000
May 17,000 i; 10,000/ 3,600 2,200
June 18.000|  10,400| 4,000 2,300

Other Information :
(a)
(b)

Period of Credit allowed by suppliers is two months.

25% of Sales are for Cash and the period of Credit allowed to Customers
is one month.

(¢) Delay in payment of Wages and Overheads is cne month.
(d) Income tax ¥ 25,000 is to be paid in June 2018,
60 @eONTYY WINCINT LTI FTUAW WUW 3R LTTN = 95080 ¢
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~e3g o TO® 3R | o oW v
WRONE AL, | F3 riowss | TRONT Ao T3 rodn
g -4
TPYOE TWNFT 75 60 70 70
wd-F9IOT TIRFT 45 40 30 50
F-Ua’@a,o‘&;a’ TOWET 510} 30 80 20
TOAR) 62 WOUNRYY FNFTWORRLORB.
FOTRH&ROWD
(a) TINFT T FFA
(b) T3 TS R
(c) woinFs T8 Rz
(d) ToXET WIe e
—— e ——
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The information regarding composition and the weekly wage rates of labour
force engaged on a job scheduled to be completed in 60 weeks are as

follows :

Standard Actual
|

Types of Labour Weekly Wage Weekly Wage
No. of Workers rate per hour|No. of Workers | rate per hour

4 T

Skilled TS 60 70 70

Semi-skilled 45 40 30 50

Unskilled 60 30 80 20

The work completed in 62 weeks.

Calculate :

(a)

Labour cost variance

(b) Labour rate variance
(c) Labour efficiency variance
(d) Labour mix variance

10. SA OGS Bomen RRWOINTE 2oy DY) W BOWRE B BLFFCTWOST

LOEVTL LBOWITR

» 3 Sortm TRweRT ﬁz’i — DRERT

shewnsEnE HORRe

T 3

N, LoD 3,20,000sce3nd R0, 800
ooy, T 3,00,000 RFEne xoss, 500
TS 1,95,000 2RF @ NRotdnsd 3,000
Theesht) DEeF O 1,70,000 |=0QeTmNT X083, 850
choTri 4,25,000|cR0Ie 0O 25,000
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BOTDOIN 20T DRHORY e,0th Bomm 3,000 worr‘e;a% K ToBE SO, BEO
mmInnY @ T 1,20, 000 S 3ed Dr %2,30,000. Q0TCARENTOL, 2E0WIINT

w0 8 FPTOBOLT :

oMY STedne 20

008, AP 25

DRFBR Rownw 600

BoLEBHRY B3 30
£5) )

oo, womodeen O 2,000
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wtﬁﬁ&b, e ST Taueto) T 2ELDWEIT dﬁf‘}&’ Dedr HTEID0W W IOWT WLEGE
305&‘:)63&3@@ w&::ﬁ’& somE & 0D

The budgeted Overhead and Cost Driver Volumes of SA Ltd. are as follows :

Budgeted Budgeted
Cost Pool QOverhead Cost Driver Volume
£4 4
Material Procurement 3,20,000|No. of Orders 800
Machine Set-up 3,00,000|No. of Set-ups 500
Maintenance 1,95,000|Maintenance hours 3,000
Quality Control 1,70,000|No. of inspections 850
Machinery 425,000\ No. of machine hours 25,000

The Companv has produced a batch of 3, 000 components of X', Its Material
Cost was ¥ 1,20,000 and Labour Cost was ¥ 2,30.,000. The Usage of activities
of this batch are as follows :

Material Orders 20
Set-up of Machines 25
Maintenance hours 600
No. of inspections 30
Machine hours 2,000

Calculate the Cost Driver rates that are used for computing the appropriate
amount of Overhead to this batch and ascertain the cost of the batch of the
component using the activity based costing.




(AT ARmRA

11.

(a)

(b)

9

GS-475

g IVBOR FRHECH SRS el 70%, 80% B 90% cDoF *Ua:bzﬁf:é
memﬁu DDA TR mw::ﬁas oo f;ﬁ:b eﬂomm. RRBRT TS I¢T ara@
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AR (Stores) HH VR NN

8 WEeRm fbemda_iﬂf#a
I 33 (30% AT)
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& ZYNT ARTYon Fow @R :

(i) =N =y B
(ii) =oskn, TT HFZ

(ili) =osHY, WYE B

3c. BO mdzﬁﬁfﬁ
4
12,000

4,000

20,000
2,000

11,000
3,000
10,000
62,000

4

1,24,000 nogdnsh

12,000 chopernsd
T 36,000

12 oRweEFrw

T 10

5,000 ORWRETITO

320 cRRITRW

P.T.0.
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(a) Prepare a [lexible budget for Overhead expenses on the basis of the
following data and determine the Overhead rates at 70%, 80% and 90%
Plant Capacity.

Particulars At 80% Capacity
Variable Overheads T
Indirect Labour 12,000
Stores including Spares 4,000

Semi-Variable Overheads

Power (30% Fixed) 20,000

Repairs and Maintenance (60% Fixed) 2,000

Fixed Overheads

Depreciation 11,000
Insurance 3,000
Salaries 10,000
Total Overhecads m

Estimated Direct Labour Hours 1,24,000 hrs.
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(b) From the following particulars calculate :

(ij Material Cost Variance

(ii) Material Price Variance

(iii) Material Usage Variance
Quantity of Material Purchased
Value of Material Purchased
Standard quantity of material
Required per unit of finished Output
Standard Price of Material

Closing Stock of Material

Finished Output during the year

-00o0-

12,000 Units

¥ 36,000

12 units
T 10 Per unit
5,000 units

320 units




